Ladislav Packa
Slovakia

a)
1.c4*b3 e.p. 0-0 (1... Rh1-f1?) 2.Bc2-d1 Rf1-f4 #

b) bPc6-->d7
1.Ka4*b4 (1.c4*b3 e.p.?) Rh1-h5 2.a5-a4 Rh5-b5 #
En passant cannot be proven, the castling is impossible - Bc2 is h-pawn promoted on f1 (and befor moved over 2).

c) bBc2-->b2
1.Ka4-b3 Ke1-f2 (1... 0-0?) 2.Kb3-a2 Ba6=c4 #
The castling is impossible, white has not the last move without exclude King and/or Rook.

Note:
After moving bPe7 at e3 is Sg4 unnecessary, but | wished to have in a) position to choose only moves 1.Rf1 and 0-0.



